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Group 1

For questions 1 through 11, write on your answer sheet how each account is closed (or not closed) at the end of the fiscal year using the following code:




DR = close the account with a debit



CR = close the account with a credit



NC = this item is either not closed or it is not an account
1. Dividends—Common


  7. Accumulated Depreciation--Equipment

2. Unearned Fees


  
  8. Paid-in Capital in Excess of Par

3. Interest Receivable

  
  9. Interest Income 
4. Loss on Plant Assets


10. Allowance for Uncollectible Accounts

5. Retained Earnings


11. Salvage Value

6. Preferred Stock

Group 2

At the end of its fiscal year (12-31-07), after all accounts determined to be uncollectible have been written off and before any adjusting entries are recorded, the following information is available:

	Accounts Receivable
	62,195

	Allowance for Uncollectible Accounts
	548 credit

	Net sales
	864,300

	Total charge sales
	462,900

	The aging of accounts receivable indicates

uncollectible accounts of
	11,488


For questions 12 through 14, write the correct amount on your answer sheet.

12. What is the amount of bad debt expense if the aging method is used to estimate


     uncollectible accounts?

13. If the aging method is used to estimate uncollectible accounts expense, what would


      be the book value of accounts receivable on the balance sheet dated 12-31-07?

*14. If the company were to estimate uncollectible accounts based on 2% of total sales



on account, what would be the book value of accounts receivable on the balance



sheet dated 12-31-07?

Group 3

The plant asset record for the Equipment and Store Fixtures account of Chocolate House, Inc. as of 12-31-07 is shown in the chart below.  

	Asset

Description
	Date

Bought
	Original

Cost
	Estimated

Life in Years
	Salvage

Value
	Method

	Store Fixtures
	01-02-02
	105,100
	7
	3,600
	SL

	Cash Registers
	01-02-04
	7,600
	4
	500
	DDB

	Computer
	01-01-05
	3,500
	5
	300
	DDB

	Laser Printer
	06-05-05
	2,770
	3
	250
	SL


For question #15, write the correct amount on your answer sheet.

 **15. What amount should be reported on the Balance Sheet dated 12-31-07 for 

Accumulated Depreciation—Equipment & Store Fixtures?

Group 4

Winken, Blinken, and Knodd decided to form a partnership.  The partners plan to invest the following assets in the business:

	
	Winken
	Blinken
	Knodd

	Cash
	125,000
	75,000
	

	Supplies
	   5,000
	10,000
	

	Equipment
	185,000
	95,000
	

	Building
	
	
	270,000

	Land
	
	
	135,000


For questions 16 through 18, write the correct amount on your answer sheet.  Consider each question as an independent situation.

*16. The partners share net income in the same ratio as the beginning balances of

      their capital accounts.  If the net income is $62,500, what amount of net income

      should be allocated to Winken?

17. The partners Winken, Blinken, and Knodd share net income based on the amount 



of time they spend working in the business, which is expressed as 5:3:2 



respectively.  If the net income is $72,600, what amount of net income should be 



allocated to Blinken?

18. If the net income of the partnership is $43,290 and the partnership agreement

      does not state how net income is to be divided, what amount of net income

      should be allocated to Knodd?

Group 5

The Everything That Glitters Co. has the following information about an item it sells for $15 each.  During the year the company sold 87 units.    

	
	
	Number of

Units
	Cost per Unit
	Extended Amount

	Jan 1
	Beginning Inventory
	7
	8.45
	59.15

	Jan
	Purchase
	15
	8.60
	129.00

	Mar
	Purchase
	25
	8.65
	216.25

	Apr
	Purchase
	14
	8.70
	121.80

	June
	Purchase
	9
	8.75
	78.75

	July
	Purchase
	16
	8.80
	140.80

	Nov
	Purchase
	6
	8.90
	53.40

	Dec
	Purchase
	5
	8.95
	44.75

	
	
	97
	
	843.90


For question #19, write the correct amount on your answer sheet.

19. What is the amount of gross profit using the LIFO inventory valuation method?
Group 6
Digger Co. purchased a laser drill for $4,200 on April 2, 2006 with an estimated salvage value of $375 and an estimated useful life of 10 years.  Digger uses the double declining-balance method of depreciation.
For question #20 write the identifying letter of the best response on your answer sheet.

*20. What is the amount of accumulated depreciation on the Balance Sheet dated 

December 31, 2007 if the company’s fiscal year end is December 31 and reversing 

entries are used?

A. $672


D. $1,344

G. $1,848



B. $714


E. $1,438

H. $2,856


C. $840


F. $1,512

Group 7

The following account balances were taken from the end of fiscal year financial statements of Marcus Corporation for December 31, 2007:

	Cash in Bank
	28,847
	
	Accounts Payable
	26,223

	Net Receivables
	34,249
	
	Federal Income Tax Payable
	3,600

	Merchandise Inventory
	28,080
	
	Dividends Payable (due 2-15-08)
	6,800

	Supplies
	1,268
	
	Sales Taxes Payable
	1,557

	Prepaid Insurance
	2,200
	
	Note Payable (due 4-1-08)
	14,000

	
	
	
	Interest Payable (due 4-1-08)
	400

	
	
	
	Long Term Note Payable (due 2-1-10)
	310,000


For questions 21 through 23 write the correct amount or ratio on your answer sheet.  Ratios should be rounded to the nearest tenth and expressed as in this example:   2 to 1

21. What is the amount of working capital?

*22. What is the quick ratio?

23. What is the current ratio?

Group 8

The Balance Sheet of Stern Bear, Inc. as of December 31, 2007 included the following amounts:

	9% Preferred Stock, $100 Par
	$125,200

	Common Stock, $25 Par
	310,000

	Paid-In Capital in Excess of Par—Common
	86,800

	Retained Earnings
	904,685


Stern Bear, Inc. is authorized to issue 5,000 shares of $100 par, 9% preferred stock and 50,000 shares of $25 par common stock. 

For questions 24 through 28, write the correct number or amount on your answer sheet.

24.  How many shares of common stock have been issued?

 *25. Considering the fact that there has been only one issuance of common stock, at

       what price per share were the common shares sold?

26.  How many shares of 9% Preferred Stock have been issued?

 *27. If the corporation pays preferred dividends on a quarterly basis, what would be the

       amount of the first quarter’s preferred stock dividend?

 *28. Disregard the information in the previous question and assume now that preferred


       and common stockholders are paid annually.  Suppose that on November 16, 2007 

          the board of directors of Stern Bear, Inc. declared a total cash dividend to all 

          shareholders of $183,008.  What amount per share is available to common 

          shareholders?

Group 9

Refer to the chart in Table 1 on page 12.  For questions 29 through 31, write the identifying letter of the best response on your answer sheet.

29.  Which of the following statements is false?


A. Net income increased from 2005 through 2007 in direct proportion to net sales.


B. Net income for 2005 was $50,000.


C. The year 2005 had the least sales volume of the three years.


D. Net income remained constant even though sales have increased through the 


     years.

*30. Which of the following is true about gross profit?


A. Gross profit occurred in direct proportion to the increase in net sales from 2005 to 


     2007.


B. The gross profit percentage increased from 2005 to 2006.


C. The gross profit for 2007 was $100,000.


D. The gross profit percentage for 2007 was 67%.

31.  Management made the following statement about the year _?_.  “We aggressively


increased our purchasing and sales staff, who were able to locate suppliers with a 


higher quality of merchandise at a more competitive price, which allowed our 


product line to appeal to a greater market share of the population.”


A. 2005      B. 2006      C. 2007

Continue to refer to the chart in Table 1.  For items 32 through 36 write “T” if the statement is true; write “F” if the statement is false.

32. The net income for each of the three years appears to be the same amount.

33. Net income expressed as a percentage of net sales increased from 2005 to 2007.

34. The amount of expenses in 2005 and 2006 appear to be the same.

35. The year 2007 had the best gross profit percentage out of the three years.

36. As a goal for 2008 management should examine the increase in expenses from


2005 to 2006 to determine if the increase was justified and whether the same level 


of spending is necessary to maintain or increase gross sales in 2008.

Group 10

Refer to Table 2 on page 12.  For questions 37 through 45 write the identifying letter of the best response on your answer sheet.

37. What amount of interest did Braker Co. earn in 2007?


A. zero

D. $36

G. $132


B. $21

E. $54

H. $216


C. $33

F. $84

Group 10 continued

38. On December 31, 2007 Braker made an entry that debited Interest Receivable and


credited Interest Income.  Which of the following is true regarding this entry in


Braker’s accounting system?  This entry is


A. required in the cash basis of accounting.


B. an example of a deferral.


C. a closing entry.


D. an adjusting entry for an accrued revenue.


E. a reversing entry.


F. an adjusting entry for an unearned revenue.

39. The face amount of the note is


A. not known until Jim Dailey decides to make payment.


B. $3,600 plus the deferred interest.


C. $3,600 plus the accrued revenue.


D. $3,600

40. The maturity value is


A. zero


E. $3,636


I. $3,690


B. $3,600

F. $3,654


J. $3,732


C. $3,621

G. $3,655


K. $3,816


D. $3,633

H. $3,684

41. What was the balance in Interest Income on November 6, 2007?


A. zero



D. $33 debit


F. $54 debit

B. $21 debit


E. $33 credit

G. $54 credit

C. $21 credit





42. What was the balance in Interest Income after adjusting entries were posted but


before closing entries were prepared?


A. zero



D. $33 debit


F. $54 debit

B. $21 debit


E. $33 credit

G. $54 credit

C. $21 credit








43. What was the balance in Interest Income after closing entries were posted but


before reversing entries were prepared?


A. zero



D. $33 debit


F. $54 debit

B. $21 debit


E. $33 credit

G. $54 credit

C. $21 credit








44. What was the balance in Interest Income after reversing entries were posted but


before Mr. Dailey made any payment?


A. zero



D. $33 debit


F. $54 debit

B. $21 debit


E. $33 credit

G. $54 credit

C. $21 credit








Group 10 continued

45. What was the balance in Interest Income as of the end of February 2008?


A. zero



D. $33 debit


F. $54 debit

B. $21 debit


E. $33 credit

G. $54 credit

C. $21 credit








Group 11
Refer to Table 3 on page 13.  Century, Inc. estimated its corporate federal income tax for the year 2007.  Century made four payments to the IRS in 2007 for $26,500 each and debited Federal Income Tax Expense and credited Cash in Bank for each payment.

The CPA for Century prepared an end-of-year (12-31-07) work sheet.  In a separate calculation, the CPA determined the Income Statement column totals excluding Federal Income Tax Expense, thus arriving at net income or net loss before federal income tax expense as follows:  Income Statement Debit column subtotal of $6,502,092 and an Income Statement Credit column subtotal of $6,827,492.  

For questions 46 through 52, write the identifying letter of the best response on your answer sheet.

46. Century made the first estimated income tax payment in March of 2007.  The other 


three payments were due in


A. April, May, and June



C. June, September, and December


B. May, July, and September

D. June, August, and November

47. What is the total amount of corporate Federal Income Tax Expense that the

      corporation will report on its Income Statement for the year ended 12-31-07?

      A. $87,906       B. $106,000       C. $110,156       D. $110,636       E. $126,906

48. The adjusting journal entry for corporate federal income tax expense for 2007

       includes a:

      A. credit to Federal Income Tax Expense


      B. credit to Federal Income Tax Payable


      C. debit to Cash in Bank

      D. debit to Federal Income Tax Payable

 *49. What is the balance of Federal Income Tax Payable after the 12-31-07 adjustment

      is posted?


A. zero


C. $  4,636

E. $  20,906

G. $110,156


B. $4,156

D. $18,094

F. $106,000

50. Federal Income Tax Payable is classified on the financial statements as a/an

      A. income tax expense item

C. deferred revenue

      B. current liability



D. long-term liability

Group 11 continued

 *51. What is Net Income After Federal Income Tax as reported on the income statement

      for the year ended 12-31-07?


A. $198,494      B. $214,764      C. $215,244      D. $219,400      E. $237,494

52. What is the amount that should be written as the Income Statement Debit column


subtotal before “Net Income After Federal Income Tax” is written on the work sheet?


A. $6,391,936    B. $6,612,248    C. $6,717,336    D. $6,827,492    E. $6,937,648

Group 12
Refer again to Table 3 on page 13.  Flip Flop, Inc. began operating four years ago and incurred federal income tax expense as follows:

	Year
	Net Income
	Income Tax

Expense

	2004
	25,500
	3,825

	2005
	19,520
	2,928

	2006
	4,500
	675


Flip Flop made four estimated income tax payments of $300 each to the IRS during 2007.  The accountant prepared an end-of-year (12-31-07) work sheet.  In a separate calculation, the accountant determined the Income Statement column totals excluding Federal Income Tax Expense, thus arriving at net income or net loss before federal income tax expense as follows:  Income Statement Debit column subtotal of $157,290 and an Income Statement Credit column subtotal of $146,210.
For questions 53 through 55, write the identifying letter of the best response on your answer sheet.

53. What is the total amount of federal income tax expense that the corporation will 


report on its income statement for the year ending 12-31-07?


A. zero

B. $300

C. $462

D. $1,200

E. $1,662

54. The $1,200 that Flip Flop paid to the IRS in estimated income tax payments in 2007


A. is non-refundable and will be transferred by the IRS to the general operating 



budget of the federal government.


B. is non-refundable and will be transferred by the IRS to the state government in



which Flip Flop was incorporated.


C. will be refunded to Flip Flop after it files its 2007 corporate income tax return.


D. is properly paid to the IRS for corporate income tax owed for 2007.

*55. Flip Flop is entitled to receive a refund of taxes paid in years prior to Jan. 1, 2007 in

the amount of


A. zero

B. $300

C. $462

D. $1,200

E. $1,662
Group 13

Refer to Table 4 on page 13 and use that information for questions 56 through 67.  
For questions 56 through 61, write the identifying letter of the best response on your answer sheet using the following code.  A response may be used more than once.

A. $800


C. $3,200

E. $38,400

G. $40,000


B. $1,600

D. $36,800

F. $39,200

56. What is the face value of the note?

57. What is the maturity value of the note?

58. What is the amount of the bank discount?

59. What is the amount of the proceeds?

60. What amount is credited to Notes Payable?

61. On the issue date what is the book value of Notes Payable?

For questions 62 through 67 continue to use Table 4.  Write the identifying letter of the best response on your answer sheet.

62. On the issue date Clayton will debit which of the following accounts for the bank 


discount?


A. Discount Expense



E. Markdown Expense


B. Discount on Notes Payable

F. Markdown on Notes Payable


C. Forfeit on Notes Payable


G. Notes Payable


D. Interest Expense




H. Proceeded Note Payable

63. On the issue date Clayton will record the bank discount in which account type?


A. asset


C. contra liability



E. liability


B. contra asset

D. cost of merchandise sold

F. expense

64. Clayton repaid the bank on the maturity date which was:


A. December 3

C. December 5

E. December 7


B. December 4

D. December 6

F. December 8
65. When a noninterest-bearing note payable matures, the amount of bank discount is


A. transferred to a contra expense account


B. reimbursed by the bank


C. classified as a negotiable instrument


D. recognized as an expense


E. recalculated at the current market rate

66. In theory on the issue date the bank discount is a/an


A. accrued expense

C. prepaid expense


B. accrued revenue

D. unearned revenue

Group 13 continued

*67. Assume for this question only that the note was issued on November 16, 2007.  


When Clayton prepares adjusting entries on December 31, 2007 which of the 


following is correct?


A. Interest Income will be credited for $1,200


B. Interest Expense will be debited for $400


C. Interest Expense will be debited for $1,600


D. Interest Expense will be debited for $1,200

Group 14

Refer to Table 5 on page 14.  The Balance Sheet was printed from the company’s accounting software by Todd Simpson, one of the shareholders, on New Year’s Eve.  All the regular daily transactions had been recorded correctly.  However, the company’s CPA informed Todd that the necessary end-of-year adjusting entries had not been prepared; therefore the Balance Sheet he printed was not accurate.
For questions 68 through 75 write the identifying letter of the best response on your answer sheet.  (Disregard corporation federal income tax.)

68. The adjustment related to the note receivable


A. increases Notes Receivable


B. includes a credit to Interest Receivable


C. requires the computation 18,000 x .04 x 120/360


D. increases net income


E. increases Interest Receivable by $120

69. The adjustment related to Accounts Receivable


A. decreases the Accounts Receivable account by $485


B. includes a debit to Bad Debts Expense


C. increases an asset account


D. causes an ultimate increase to Retained Earnings

70. The Balance Sheet does not show a balance for Merchandise Inventory because


A. there is something wrong with the software


B. no merchandise was purchased in 2007


C. there should have been a debit to Merchandise Inventory each time a purchase


     of merchandise was made


D. the adjustment to record the physical ending inventory has not yet been made

71. The supplies amount of $2,890 represents


A. the beginning inventory amount


B. in this case the amount of supplies bought in 2007


C. the amount of supplies on hand as of 1-1-08


D. the amount of supplies used in 2007

Group 14 continued

72. The adjustment related to the insurance policy resulted in the following ultimate


 effect:


A. Net income was decreased by $3,100.


B. Prepaid Insurance was increased by $620.


C. Retained Earnings was increased by $620.


D. Current liabilities were increased by $3,100.

73. The $750 received from a customer on December 26 requires an adjustment on


December 31 that will


A. increase net income

C. increase a current liability


B. decrease an asset

D. credit an account called Unearned Receivables

74. The adjustment related to the bank loan


A. requires no entry


B. includes a debit to Interest Receivable


C. increases net income


D. records an accrued expense

75. The declaration of dividends


A. decreases net income

C. increases current liabilities


B. decreases assets


D. increases Retained Earnings

Continue to refer to Table 5.  For questions 76 through 80 write the correct amount on your answer sheet.  Consider that all required adjustments have been prepared and entered correctly into the accounting system.

What is the correct amount of:

**76. total current assets

*77. total current liabilities

**78. net income for the year 2007

79. the ending balance of the Common Stock account after closing entries

*80. the ending balance of the Retained Earnings account after closing entries

This is the end of the exam.  Please hold your answer sheet and exam until the contest director asks for them.     Thank you.     Now breathe.

Table 1
(for questions 29 through 36)
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Table 2
(for questions 37 through 45)

Braker Co. accepted a 90-day, 6% interest-bearing note on November 6, 2007 from Jim Dailey, a customer, for an extension of time on his account in the amount of $3,600.

This is the only note receivable Braker Co. has ever had.  Mr. Dailey paid the note and interest in full on the maturity date.

Braker Co. has the following accounting policies and procedures:

1. Uses the accrual basis of accounting

2. Fiscal year-end December 31

3. Adjusting entries are prepared only at fiscal year-end

4. Closing entries are prepared only at fiscal year-end

5. Uses reversing entries

6. Uses 360-day year for promissory note calculations

Table 3

(for questions 46 through 55)

The corporate federal income tax rates for years 2000 through 2007 are as follows:

	15% of net income before taxes
	Zero to $50,000

	Plus 25% of net income before taxes
	$50,000 to $75,000

	Plus 34% of net income before taxes
	$75,000 to $100,000

	Plus 39% of net income before taxes
	$100,000 to $335,000

	Plus 34% of net income before taxes 
	Over $335,000


Table 4
(for questions 56 through 67)
On June 7, 2007 Clayton Industries borrowed $40,000 from First Bank by issuing a 180-day, noninterest-bearing note payable that the bank discounted at 8%.

Clayton Industries has the following accounting policies and procedures:

1. Uses the accrual basis of accounting
2. Fiscal year-end December 31
3. Adjusting entries are prepared only at fiscal year-end

4. Closing entries are prepared only at fiscal year-end
5. Does not use reversing entries
6. Uses 360-day year for promissory note calculations

Table 5
(for questions 68 through 80)

	Firebird, Inc.

	Balance Sheet

	December 31, 2007

	Assets
	

	Cash in Bank
	18,420

	Notes Receivable
	18,000

	Accounts Receivable
	14,235

	Merchandise Inventory
	

	Supplies
	2,890

	Prepaid Insurance
	3,720

	Equipment
	65,700

	Total Assets
	122,965

	Liabilities
	

	Notes Payable
	60,000

	Accounts Payable
	14,288

	Total Liabilities
	74,288

	
	

	Stockholders’ Equity
	

	Common Stock ($1 par value)
	40,000

	Retained Earnings
	8,677

	Total Liabilities and Stockholders’ Equity
	122,965


Company Information:

· Accrual Basis of Accounting

· Business formed & began operations March 1, 2007 (closely held corporation with all stock owned equally by four brothers)

· Fiscal year end is December 31

· Adjusting and closing entries are prepared at year-end only (disregard fed. income tax)
· Uses banker’s year for promissory notes

· Uses the Aging of Accounts Receivable method

· Uses the periodic inventory system

· Uses the straight-line method of depreciation
· The Statement of Retained Earnings shows that $8,677 is the 2007 net income before adjustments (Beginning Balance is zero and there were no dividends prior to year-end.)
Adjustment information gathered by the accountant for December 31, 2007:

· Note Receivable, 4%, 60-day, issue date December 9, 2007

· No Accounts Receivable accounts need to be written off in 2007.
· Accounts Receivable Aging Report indicates $485 is estimated to be uncollectible.
· A physical inventory was taken on December 31, 2007:

· Merchandise Inventory $19,800
· Supplies $625
· One insurance policy was purchased on March 1, 2007 for 12 months of coverage.
· The equipment was purchased on March 1, 2007 with salvage value and useful life estimated at $12,000 and 5 years.

· Firebird received $750 from a customer on December 26 as an advanced payment that Firebird credited to an income account.  As of December 31 the sales order has not been filled by Firebird because of a pricing dispute with the customer.  Todd told the accountant that the $750 will need to be refunded to the customer as soon as possible in January 2008.
· Firebird borrowed $60,000 from the bank on November 1, 2007 at 6% for 120 days.
· The corporation’s Board of Directors (the four brothers) declared a cash dividend on the

      common shares on December 31, 2007 of 25 cents per share payable on January 15, 2008.
